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Linear equations in one unknown x=3
Linear equation is an equation of a straight (iv) 1 (2x —1) - l(3x —4)=0
4

line. It is an equation whose unknown variable

has the highest power one. E.g. y =x + 5, solution

S(@x—1)—;Bx—4) =0

4y = 3x + 4, etc.

Linear equation in one unknown is the one Multiplying through by 20
which has got onIZxor;e unknown variable, 4(2x —1) —5(3x — 4) = 0
suchasx+2=5, w12 =4, ... 8x—4—15x+20=0

. o -7x=-16

Solving for unknown of the equation is the 16
same as making that variable the subject of X=7
the equation Revision exercise
Example 1 1. Solve the following equation
Solve the following equations (a) 2x+4=0[x=3]

_ (b) 5x-6 = 24 [ x =2]

(i) 4x+4=10 (c) 3x+2=x+8[x=3]
Solution (d) 2x+5=29-10x [x=2]

e) 3(x—8)+2(4x—-1)=3|x =—

4x+6=10 (e) 31 )+ 2 ) [

(f) 3(2x—5)—4(x—2) = 5(x—8) [x = 11]

4x=10-6=4 2. Solve the following equations
5x— 3 4x-3

X= i =1 ( ) [ = 3]
! 3 17
i b) =1 =7
(i) 3x+2=x+8 20 s P
Solution (c) 2x+3+ [ =-2
3x+2=x+8 (d) 2x43 6x _2x+5[ ]
3x—x=8-2 1 52
2x=6 (e)g(x—2)+§(5x—4)—5x [x=2
3x+1 6x+1 2
x=3 (f) = = * _2
(iii) 5x-3 _ 4x-3 24x_x3 ~ 4;:_15 [ j 5]
54| ’ ) 73 = 3z [ - Z]
olution
5x—-3 _ 4x-3

4 = 3
3(5x — 3)=4(4x-3)
15x -9 =16x-12
-x=-3
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